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1. Give the answers of the following questions : 1x7=7

(a) What term is used to denote the Chapters of
the Sahityadarpana?

(b) How many types of meaning are there
according to Visvanatha?

(c) To which Vrtti the term ¥4 is related?
(d) Give an example of the Mahavakya.

(e) Who has coined the term Indo-European
originally?

(f) Which Indo-European  language  is
grammatically very similar to Sanskrit?
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(g) Which English word is at the root of the
linguistic division of the IE language in
satem and centum groups?

2. Give the answers of the following questions : 2x4=8
(a) Explain the reason for which the expression
afeAT R cannot be taken as a specimen
of a 1.
(b) Why is @&om termed as an ffaT F1f*H2
(c) Explain how can @%T be established in
the sentence *‘FHfT EEICH
(d) Why the Sanskrit language does not follow
word-order?
3. Answer any one of the following : 5
(a) Explain the idea contained in—
T 9 SR AT
(b) Write a note on the treatment of Wi in
- connection with the 3Tfargfy,
4. Answer any two of the following : 5x2=10
(a) Write a note on the usage of Upasarga in the
Vedic Sanskrit language.
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(b) Explain the meaning and application of the
Verner’s Law.

(c) How is Sanskrit related to the family of
Indo-European language?

Discuss the salient features of Indo-European
language. 10

Or
What is ablaut? What are the causes behind the

ablaut phenomenon? Discuss the ablaut-position
of the Sanskrit language.

Write an exhaustive note on ?I'l?q?fa_ﬁi 10
Or

Discuss the statement *‘fd&: 387 I3

Explain the difference between STRH@HUTT and
@HOTEHT showing the reasons why those two are
named as di\ﬂmqqu and SEcETEl respectively, 10

Or

Discuss the @& contained in— 2vx4-10
THET A1 ; Flow: TENE: ; T A qEfy
GG |
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